EARAROBEEIERT — 2 N— IBISH —F

201655350 () 2mEfntE4E

ﬁ%xﬂﬁ?é AZHGH P ESRE C v I7FR—K ‘ (XM&] W ‘ (R — | & (%) 15000 4
[AE4£] 17 :800,000 3 ~ 23%&:240,000  ~ 33#&:144,000 @  47#&:96,000 3 ~ 5 37 :80,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 o | NTHT—IR H o4 5?56!{%% 1:(3_8).7 5556 [40.0| — | 1 | 479 §ﬁ§§ (ha4®)
XL THANAN B:h/ Y by TLT g (-5) EARKIS
o 4 7 | FHEE 1:39.8 6-6-5-5 |41.1| — 3 459 | LR (M0HE)
2 3 ’7‘!)—19'(.& 54.0 (5) 43) EIES
L:T7NHtEy b BTYU—ZE21-T 1 RFE EF
3 4| AXELY K71 # 8 5%_5?55 1(:13/92.>Q 8-8-8-8 |40.8| — | 6 | 497 gg%i (&)
RT—NSRYLF— B3> K | Em ks
Ol o S 4 o4 | KHEZ 1:40.1 2-2-2-2 | 42.0| — 8 47 | EEEE (RS
41717 J =By bAR—A 56.0 (3/4) (-11) BHKER §
RNAT ==L B:ZIHTN BH #3
1 s EREVIEETA” #7 | EER (1742)71) 4444 | 416 — | 2 | 469 g%%ﬁ(ﬂaﬁ)
R:za—4>75>FK B:O0—5>32 1) V=Likie]
S = 5 i 6 | BEY 1:40.2 1-1-1-1 | 421 | — 4 482 | AME (A0tE)
65/5|/SL—FT17 54.0 (7€) ) ) TABIL -z T
R:T7IhtEy b B:EZax> bNL— TS
7lglg | ¥ IR by EO- # o8 %%W% 1:(420>.6 3-3-3-3 |42.3| — | 7 | 478 gg%é (%)
QFALZTr—2 a7 REa—F1— )| Femansy
. Sk o5 | SEHERK 1:40.9 7-7-7-1 | 42.0| — 5 489 | EBEEEZ (AfE)
gl1|1|T>¥byL IR 56.0 (1 1/2) 1) |WOEF )
R:x¥Y/ by THY B:Fv—LTR)-T HE%S
@ 1—F—@&BIEf
13=zr= 5,7,8,6,2,3,1,4
20—F— 5,7,8,6,2,3,1,4
33—+— |5,7,8,6,(2,3),1,4
43—+ — 5,7,8,6,3,2,1,4
[ RN
B OB 2 160 714K 2-3 150H B E 2-3 460/ &R 2-3-4 2,000
8 B 2 110 2-4 880F B H 2-3 560/ JEH 2-3-4 4,750
3 140 3-4 1,120
4 420M

ABICOVWTRDTEEERROODE. TR LIV,




